[Effici

ency vs vertpos |

~ 0.2

20.18F
g o
20.16f
U -
§0.14F
O C
£0.12F
0.1F
0.08F

0.06
0.04
0.02

Ratio

=
2
N

----ﬁ# bt
El 4 :
ok + AT IR,
id : ]
0.8F---+]-----4 -
s : L4
0.6f---{---f--i !

107 1

10 0
TP vertr (cr%)

2

—=— DQM_TT__mkFit-DQM_original-0

Efficiend —— pQM_TT__mkFit-DQM_original-127

~ 0.2

T R S S
% E : : : : :
20.16------ AR ARAEAES 1 R P
> : : : : :

2 E : : : : :
o S S A A A
(8] » . . . .
£0.12-- A R A Tt
o : : : :

O Nt S SR
Y OO SRR NSNS S
0.06F bbb
0.04F :
0.02

0
!

Ratio

o
©

IIIII T
=
o
e

ﬂ

» o
. o
+
+

2
£

[
o

TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 0.5
>
’3-_0.45
£
175} 0.4
20.35
0.3
20.25
0.2
0.15
0.1
0.05

y

)
c
9
:1:

Ratio
=

-20 -10 0 10 20 30

0 =15 -10 -5 0 5 10 15 20

Sim. PV z (cm)




	Contents
	Page 1


